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U R MR T A L

H H it ix K [0 ¥ % R i
AR | gt A B MR B OB M |EEM|E | 1T X RN [ RGHE A OB PR KR S AR K (R A SR | AT e X A | A R E AR | 81 AE HE K | HAE AL E
DOFE[ AN T PN PN HEHEAD Xk ORE | X dk o RR
BtFEHR |4 H B| # A A (K &o|ofFE
HiE4 A (M B N @S] e (M| D (N) (ha)| E (ha) (ha)| F (ha)
X B il H.18.08.01 | H.18.11.01 | H.18.04.01 2 2 223,786 4,503 1,308 1,308 1,308 17,554 647 647 647
s 223,786 4,503 1,308 1,308 1,308 17,554 647 647 647
H1 O EEARY 1 =514 2 =Bt
2 HHEREORE 1 =ik 2 =FFRRE
H H it X 3 [0 * % N o O E | BREK (N -
= K g3 KV AE =R gk & [RHELEIRED| BLOAE F ¥ [ 4 R A AR A UK & B H o N &R
Ny PN B i fi &% & & LR KR [ K & H/Gx100 | ( )NIZHEE I
C/AX100 [ C/BX100 | F/EX100 | D/Cx100 WERES [HEFFEHEER] & & &
il (%) (%) (%) (%) (km) (m3/ H) (m3/H)| G (m3)| H (m3) (%) OHE) (1) (1)
X H ifi 0.6 29.0 100.0 100.0 551 254 92,539 92,539 100.0 1 ( ) 35,172 805
it 0.6 29.0 100.0 100.0 92,539 92,539 100.0 1 ( ) 35,172 805
H H % = o7 Hr
T o N #R fif H s & Zase Al i i 24 g3 WEHG5 T
PR KWL B % | R R | 6 R LA [ AL B R Al | A A ] U SR | S EE20m 3 | 92 A SR | R I 3T bk SR RTINS bR B BN ST R B LA 720 | ek 2 U 2R
MEREHREL] B K & 720 fd f=g e
[ (&4 (1) (GRED (1,/m3) (1 m3) (%) (1) (%) (%) (%) (%) (1) (%)
ES ] i 20000 101.01 264.97 38.1 2,182 63.7 63.7 16.6 —
101.01 264.97 38.1 63.7 63.7 16.6 —
W3 HHEHAR 1 = KB k4 LB il 2 ={E i 3 =Bt
4 = EHEH) 5 =K 5 A Bk 6 =Z DA
T H T i 7y Bt
Wl fE H B fR il i B [ B3 % JE . % ES H % It R
DA R MEHEERG] R ' A | R E A | R E AR |HEEE| ACEAR |BCEE|(BEAB|A CEAR| B & kR [EEEE| 8 b 5[ 2 8 | B & g
T A e P S| R 2% R | RRERIGEER | AR fin fn S| MR AR Lb SR | B ORR Bb SR [ M AR b EHIE AR
[ (&4 (%) (%) (%) (%) (%) (@) (&) (%) (%) (%) (%) (%) (%) (%) (%)
EN ] fidi 3.6 18.8 A 3.1 A 3.1 N 6.7 0.02 0.03 3.0 24.4 72.3 114.8 85.8 519.0 500.2 159.6
= 3.6 18.8 A 3.1 A 3.1 N 6.7 0.02 0.03 3.0 24.4 72.3 114.8 85.8 519.0 500.2 159.6
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H H 1L i@ 5] I pa D BN L
X % iy iz A I = 1y H
O & | R E L | E 3 I 2 [EERIEOYD| B EANE | B B R & [RINE0L] RO B | R W R | ¥ S B [HEAHOL]E EA | B AR K
a=cte+f | b=c+e ZRE T HINLE G4 g=itk+l] h=i+k ZHTHEE
4 (FH1) (TH)| c (M| d ()| e ()| f (FH) (T-H) (1) (FH)] i (T j (FH) | k GREDI! (FH)
X0 38,001 38,001 9,347 23,604 12,117 59,602 59,602 56,351 3,341
= 38,001 38,001 9,347 78,651 12,117 59,602 59,602 56,351 3,341
H H I i 5] 1L * D R L
WOE O [ REBER|E EXEBRE ([ RLOFZLE S A 7% A 1 54
T A 4 O [ TACEMEAE] X 8 F1 B eI S % it B
a— b—h (c-d)—G-j) | RFE X HE EER LS| —FE AL
k4 (Fr) (FH) (FH) (F-H) (FH) (FH1) (FM)[F A (FH) (FH) (FH) (F-H)
* W 7~ 21,601 7 21,601 7 47,004 12,852 9,347 3,081 3,081 21,439 32,676
= A 21,601 A 21,601 A 47,004 12,882 9,347 3,081 3,081 21,439 32,676
H OH 5 A Y I * D R L
& g 5] I A
O I I K R e R R =k R K A R N KA R ;/E %Z% H-B@EBE&| TFEFABE] £ © = WMo
7 A &
Bl (1) (T-[H) (T-[) (T-[1) (T-H) (T-[) (M) (G D) (M) ()] m (M)
* M 7,421 2,160 0,881 0,881
= 7,421 2,460 0,881 0,881
H H 7 ES 5] I 53 2 R L WG B R gk =] o 3 [
iz EN 5] * H I 322 81 | #l YR RS it
AR B[ eREEES AR [ XEE] £ o fh W A | W B o
N m—n
Bl (1) (T-[1) (T-[1) (T-[1) (TH)| n (T-[) (T-H9) (1) (1) (T-[) (1) (T-[)
X W 35,457 1,007 39,551 7 290,673 29,673 173,383 6,685 6,685
= 35,457 1,007 39,551 20,673 29,673 173,383 6,685 5,685




